7867.N1.10908.05

Spare Part ltemCode

OZTIRYAKILER MADENI ESYA SAN. VETIC. A.S.

Cumhuriyet Mah.Hadimkdy Yolu Caddesi No:8 1Nolu Bagimsiz BSliim
Biiyiikgcekmece Istanbul / TURKIYE VD: BiiyiikMiikellefler VKN: 7080013433
Phone.: 00 90 212 8867800 Fax No: 00 90 212 8867809
Page 1

OTE 100 ELECTRIC BRATT PAN 100 LT MANUAL TILTING Version No:

SPARE PART LIST
Item name. Pictureld Price. Curr.

9099.38120.AB

S/S CORRUGATED PIPE 3/8"x 1200mm L

2KLP.460.626000100.000

SPRING BALANCER-RIGHT- 12-BRASS FOR LID LIFTING MECHANISM OF TILTING BRATT PANS

6260.00151.03

NUT BRASS FOR WORM GEAR FOR 90'S TILTING BRATT PANS

2KLP.460.626000151.61

KALIPHANE UR- DEVRILIR TAVA SONSUZ VIDA SABITLEME BILEZIGI Q27*35 M6 DISLI

2KLP.460.622500008.20

KALIPHANE UR- SAPLAMA M8*65

6218.00001.19

RIVET 3*8 STAINLESS STEEL

6214.00002.02

NUT M8 GALVANISED

2KLP.460.626000100.09

KALIPHANE UR- KAYNATMA TENCERES] KAPAK MEKANIZMA 2 LT PRINC Q46*8 mm

2KLP.460.626000151.24

BUSHING BRASS FOR TILTING MECHANISM OF BRATT PANS ON MAIN BODY

2KLP.460.626000151.34G

KALIPHANE UR- DEVRILIR TAVA KALDIRMA MEKANIZMASI RULMAN YATAGI-GALVANIZ KAPLI

6260.00098.04

FOLDABLE HANDLE FOR HANDWHEEL-M10

6260.00058.96

FLUE COVER CAST IRON WITH CERAMIC ENAMEL COATED FOR ALL 700&900

6246.00002.00

HEATING ELEMENT 1500 W 230 V 750&80-100-130-205 BRAT PANS

2KLP.460.622500008.21

KALIPHANE UR- SAPLAMA M8*30

6260.00098.00

HANDWHEEL (200mm)

6234.00001.26

THERMOSTAT 365" LIMIT EGO 56 10572500

6232.00010.33

SWITCH PS21L-PO11PH-T00 CARLO GAWAZZ|

6259.00003.10

CONNECTOR GRI PG 21 ORTAC

6230.00014.06

CONTACTOR

6248.00011.08

TERMINAL AVK 6/10 T

6260.00015.63C

KNOB METALIC

6260.00015.600

METAL BUTTON PLASTIC HUB

6251.00004.30

SIGNAL LAMP BLACK BODY GREEN LENS NEON 100K-220V

6257.00016.04

POWER SUPPLY CORD 5x4 HO7RNF

6254.00005.04

4 POLE ON-OFF SWITCH

6248.00011.17

KLEMENS AVK 10 BEJ

6248.00011.15

TERMINAL AVK 10 BLUE

6257.00010.031

KABLO 075MM CAM ELYAFLI+SILIKONLU MAVI

6243.00006.00

INSULATION TUBE @8mm (BOURGEOIS)

6218.00002.00

FASTENER SPIN TYPE M5 NO CAP WITH CD COAT.

6213.00002.19

M5x16 S/S COUNTERSINKING HEAD CROSS RECESS SCREW

6225.00004.111

M5x10 GALVANISED HEX FLANGE SCREW

6225.00004.000

M5x15 GALVANISED HEX FLANGE SCREW

6234.00001.05

THERMOSTAT 50-300 C MONOPHASE

6259.00003.043

Cable Gland

6248.00011.00

TERMINAL STOPPER KD-3 KLEMSAN 495040 BEIGE

6257.00010.032

KABLO 075MM CAM ELYAFLI+SILIKONLU SIYAH

2867.N10.01620130.7.5

DEVRILIR TAVA VOLAN BAGLANTI SACI P-L ISLENMIS

6260.00151.02

WORM GEAR FOR 90'S TILTING BRATT PANS

6211.00220.00

BEARING 6204 ZZ

6260.050300.55CS

BUTTON FLYWHEEL METAL CHROME PLATED 50-300 SCREEN PRINTED

6251.00004.31

SIGNAL LAMP BLACK BODY RED LENS NEON 100K-220V

2KLP.460.626000151.44

KALIPHANE UR- DEVRILIR TAVA BURC YATAGI Q45*17

2867.N30.GR001.06

50-80-100-130 LT LID MECHANISM GROUP

6214.00002.02

NUT M8 GALVANISED

6222.00009.05

KNOB FOR WATER LEVELLING TAP OF INDIRECT BOILING PANS

6222.00015.100

DEVRILIR TAVA DOLDURMA MUSLUGU SABIT UZUN BOY 1/2

2KLP.460.00510298.9.01

KALIPHANE UR- DEVRILIR TAVA KAPAK YAY BORUSU 50-80-100-130 LT

6212.00002.20

M8*30 6K INOX bolt

6222.00009.04

WATER TAP FOR LEVELING

2KLP.460.626000100.00G KALIPHANE UR- DEVRILIR TAVA KAPAK MEKANIZMASI 12 LI PRINC-SAG GALV. KAPLI BRS1
6260.00002.10 PIPE FEET 130-180MM TOP TABLE 90*100 LG10
6205.00010.05 SPRING @34x170x6 mm FOR LID LIFTING MECHANISM OF TILTING BRATT PANS YAY3




7867.N1.10908.05

OZTIRYAKILER MADENI ESYA SAN. VETIC. A.S.

Cumhuriyet Mah.Hadimkdy Yolu Caddesi No:8 1Nolu Bagimsiz BSliim
Biiyiikgcekmece Istanbul / TURKIYE VD: BiiyiikMiikellefler VKN: 7080013433

Phone.: 00 90 212 8867800

OTE 100 ELECTRIC BRATT PAN 100 LT MANUAL TILTING

Fax No: 00 90 212 8867809

Page
Version No:

2

I

g

0ztiryokiler

100 LT ELEKTRAKLy DEVR-LAR TAVH (YENY MODEL

A AT

5
A

TOLERAKS

v | 1650 1.RE324.‘I]| OTE 100 Patlargg

REVETYON |

Al R ]

#alaznn

Za04.200

E.BATLE

MHACT
MHAC]

IEN
KONTROL

AT

ATRLIK R | lhPle7 4R KALIMLIK

ARGE
KONTROLLU KOPYA

| TUM 8 GULER am CHENDENDS

RESM UZERINDEN HLOD ALMAYINIT |




